
Middlesex, Vermont
Erection Plan

Town of Middlesex, VT 12 (Rural Major Collector)
Project Number BRF 024-1(37)

References: 
-Use AISC 9th ASD to check stresses in girders during erection
-AASHTO 7th Ed.

Calcs by: TEPA
Checked by: GNM

Section Properties of W30x90 Girders:
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Check slenderness:
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Shape is noncompact
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Check stress on single, unsupported girder:
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By inspection: 
Worst case bending occurs when beam sitting on abutments. Beam will be okay 
during lifting.

Crane will be setting on crawler pads and 10" of pavement on Rt 12. No need 
for crane mats.



Check lateral force on G1 with 40MPH wind:
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Say: Ratchet straps at ends must resist a minimum of 250lbs 


